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QUESTION 1 

 

What can be developed using the Lightning Component framework? 

A. Hosted web applications 

B. Single-page web apps 

C. Dynamic web sites 

D. Salesforce integrations 

Correct Answer: B 

  

QUESTION 2 

 

How should a developer write unit tests for a private method in an Apex class? 

A. Use the SeeAllData annotation. 

B. Add a test method in the Apex class. 

C. Use the TestVisible annotation. 

D. Mark the Apex class as global. 

Correct Answer: C 

 

QUESTION 3 

 

A developer has a requirement to create an Order When an Opportunity reaches a 'Closed-Won' status. 

Which tool should be used to implement this requirement? 

A. Process Builder 

B. Lightning Component 

C. Lightning 

D. Apex trigger 

Correct Answer: A 

 

QUESTION 4 

 

developer created this Apex trigger that calls MyClass .myStaticMethod: trigger myTrigger on Contact(before insert) ( 
MyClass.myStaticMethod(trigger.new, trigger.oldMap); } 

The developer creates a test class with a test method that calls MyClass.mystaticMethod, resulting in 81% overall code coverage. 
What happens when the developer tries to deploy the trigger and two classes to production, assuming no other code exist? 

A. The deployment fails because the Apex trigger has no code coverage. 

B. The deployment fails because no assertions were made in the test method. 

C. The deployment passes because the Apex code has required (>75%) code coverage. 

D. The deployment passes because both classes and the trigger were included in the deployment. 
Correct Answer: A 
 

QUESTION 5 

 

A developer must provide a custom user interface when users edit a Contact. Users must be able to use the interface in Salesforce 
Classic and Lightning Experience. 

What should the developer do to provide the custom user interface? 

A. Override the Contact's Edit button with a Visualforce page in Salesforce Classic and a 

Lightningcomponent in Lightning Experience. 

B. Override the Contact's Edit button with a Visualforce page in Salesforce Classic and a Lightning 

page inLightning Experience. 

C. Override the Contact's Edit button with a Lightning component in Salesforce Classic and a 

Lightningcomponent in Lightning Experience. 

D. Override the Contact's Edit button with a Lightning page in Salesforce Classic and a Visualforce 
page in Lightning Experience. 
Correct Answer: A 
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